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A 414X Eih | R AR FRIEENT ik 1 55
BEYN 8 SH 5kg & ke 850 EiE
= A 102 SH 5kg 75 kg 800 EiE
17 45/ =F 5kg 8 kg 700
JY 10kg =il 1A ) kg | 2,900 EiE
) 8/9kg =1L 1A = kg | 2,600 EE
7 6/8kg == 1A 8 kg | 2,000 TBE
FERXF 1/3E BEAR 4/5kg = kg | 2,600 TiE IEE
AFA 4/5kge | BR 1A o] kg | 1,600 #
Y5 3/5kg 1& ] 1A e kg | 2,750 $ fEH
VAP 2E f& [l 5/6kg e kg | 2,450 # fEH
£ BfR B EEdon] 5/5.5kg ] kg | 2,900 # fERF
£ Bff 5FE ik 0n] 5/5.5kg e kg | 2,450 # fEH
R 1.5/2kg = 1A i kg | 2,600 EBE JEX
H 2 = 2kgfi & kg | 2,300 EE JEX
Y)AA a = Skg i kg | 1,300
RAIWKRZILAA EE 300g >4 # | 1,350 5
YEBRAAF fif] |11 5 120g P P 500
AT RET 250/300g | dbifEiE (>4 34 450
AT RET 180/200g | JtifEiE 54 4 350
VA7) 100/120g FE 1& kg | 2,500
VA, 60/80g FE & kg | 2,200
TRy+ 8 #9300¢g dtiEE & kg | 1,600
HHT 100/130g RI& & kg | 2,000
HILE 350/450g B & kg | 2,450
ANl #9900¢g BH 54 # | 1,300
A5EF Lt jtiEE 500g P P | 4800
228F L tiEE 500g P P | 4,000
AZ8F it timE 500g P P | 3,000




